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Length - Transport Position

Length - Bin Fully Tipped

Helght - Transport Position

Height - Rotating Beacon

Height - Load Light

Bin Height - Fully Tipped

Width over Mudguards

Width over Tyres - 23.5R25

Width over Tyres - T50/65 R25

Tyre Track Width - 23.5R25

Tyre Track Width - 750/85 R25

Width over Bin

Width over Tallgate

Width over Mirrors - Operating Position
Ground Clearance - Artic

Ground Clearance - Front Axle
Ground Clearance - Bin Fully Tipped
Ground Clearance - Under Run Bar
Bin Lip Height - Transport Position
Bin Length

Load over Height

Rear Axle Centre to Bin Rear

Mid Axle Centre to Rear Axle Centre
Mid Axle Centre to Front Axle Centra
Front Axle Centre to Machine Front
Front Axle Centre to Artic Centre
Approach Angle

Maximum Bin Tip Angle

Maximum Articulation Angle

Front Tie Down Height

Machine Lifting Centres

Inner Turning Circle Radius - 23,5R25
Inner Turning Circle Radius - T50/65 R25
Quter Turning Circle Radius - 23.5R25
‘Outer Tumning Circle Radius - 750/65 R25
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maximum speed.

% Grade - % Rolling resistance

Total Resistance

40%

NVM GVM
19,037 k 43,037 ki
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. 19,037 kg 43,037 ky )
Retard atlon a197016 94,830 Ib ADT, B25E 6X6 - Retardation
. Determine retardation force required by finding 120 120
intersection of vehicle mass line.
. From this intersection, move straight left across 100 100
charts until line intersects the curve. NOTE: 2% o
typical rolling resistance is already assumed in A
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